m:f is the significance of resistivim
In a semiconductor, it is related to the

concentration of electrons, holes, and
their carrier mobilities. These are the
things that make semiconductors work!
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@The resistivity is extremely high,\

majority carrier concentration will exceed
minority carrier concentration by orders of
magnitude so that only majority concentration
and mobility need be considered.
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(excep’r for the case of extremely higk\\

resistivity, the resistivity is dependent on the
product of “only" two variables. Fortunately,
for high quality, single crystal silicon, the
mobility is usually well behaved
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